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it (g) | HA2 (mm) | @& (mm)
10.44 11.98 12.52
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BT (2) | AaSKERE (g) | Aidr. KSREEMELTE (g) | KR (°C)

162.66 572.23 591.55 30.0
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Am = 591.55 — 572.23 = 19.32g
BFAT 30.0°C WK EYHE po = 0.995672 x 10°kg - m ™", WITHIAGRIE AL :
m 162.66

= = : 2 x 10* = 8.38 x 10°kg - m™*
P= AP0 = g3 X 0-995672 x 10° = 8.38 x 10°kg - m
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r(cm) | t(s) | r2(m?) | T(s) | rT?(ms?)
20.0 | 84.42 | 0.0400 | 2.814 1.584
25.0 | 77.88 | 0.0625 | 2.596 1.685
30.0 | 73.64 | 0.0900 | 2.455 1.808
35.0 | 70.38 | 0.1225 | 2.346 1.926
40.0 | 68.53 | 0.1600 | 2.284 2.087
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y =0.2405x-0.3422
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HE 1580 b = — 12 = —0.3422m>, B m = 10.44g, #C

2m

2.100

Io = —2mb = —2x 10.44 x 107% x (—0.3422) = 7.145 x 10 kg - m?
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30.0
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e — L2 2 X081 7792 — 10,0622 — 0.32

= 49.87¢g



Jo RN A F I K e AL PR PB22000197 2= 3

4 BRI AR S5 ) s A o
41 FRITRUE
WHRERFE N mo, DRSS IRSN 1 H -

T, = 277\/? (1)

FEMSAC ERCE — s ma (E0) RERD, IRal A HI28 -

T, = 2my | 0t (2)
k
FEMEAE LRCE TR mo CGREN) BRI, SRl FIAE R
T = om0 ; mn (3)

Al To, Ty, T, Bzl (1) A0 (2) "TRARE K, mo, THUASL (3) RIRSRAGARHI
Yok H) 5k m

4.2 BihibA

to(s) | ta(s) | t(s) | To(s) | Tils) | T(s)
36.13 | 52.21 | 45.35 | 1.204 | 1.740 | 1.512
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1.204 = 27, /™0
_ mo+0.09977
1.740 = 277 / mo+0.09977

ffRE: k= 2.496N -m~t, mo =91.65g, XA (3) FFFN AT :

T2 2 1.5122
m=—k—my= ——
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= 1 x 2.496 — 0.09165 = 52.89¢
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